
MICROTEC-001
manufacturers of industrial vacuums

-Rev: Data:

Part list / Elenco parti
DESCRIZIONEDESCRIPTIONCODEQTYPOS.

KIT TESTATA MICROTEC D280 E10-OUTØ280 E10-OUT MICROTEC HEAD KITKT.1284.701611
CLAMP Ø280 ASP.CLEAN ROOM AISI304Ø280 AISI316 CLOSE CLAMPING RINGSL.2885.001112
GUARN.REGGIFILTRO D280Ø 280 MTL GASKETGI.0329.000013
ANELLO REGGIFILTRO C/GABBIA D280Ø280 FILTER HOLDER RING W/CAGESL.3224.703514
FASCETTA STRINGITUBO 9MM 260-280Ø260-280 9MM FILTER CLAMPSL.3015.000015
FILTRO PTFE D270 H125Ø270 H125 PTFE FILTERFI.0344.000016
CONTENITORE D280X250H C/DISTANZIALI M6Ø280X250H CONTAINER W/M6 SPACERST.0624.703517
GUARN. TRAFILATA PVC FONDO CONT. Ø280 MICROTECØ280 MICROTEC CONTAINER BOTTOM PVC GASKETGI.0331.000018
CARRELLO D280 MINITECØ280 MINITEC TROLLEYST.0625.703519
RUOTA D50 NYLON PIV.Ø50 NYLON CASTORRT.0143.0000410
FILTRO A SACCO "M" 5L C/ADATT. BOCC.Ø280 FILTER BAG WITH INLET ADAPTERFI.0309.0000111
GUARNIZIONE EPDM BOCCHETTONE DBF/MTLDBF/MTL INLET EPDM GASKETGI.0176.0000112
BOCCHETTONE D50 C/FL. Ø280 C/ADATT. SACCOØ50 INLET W/FILTER BAG HOLDERSL.3223.7035113

1

2

3

4

5

6

7

8

9

10

11

12

13



KT.1284.7016
manufacturers of industrial vacuums

-Rev: Data:

1

2

4

5

6 7 8

9

10

11

12

13

14

15

1618

20

21

23

25

24

25

262728
29

30

31 32

19

33

17

22

19

3



manufacturers of industrial vacuums

-Rev: Data:

Part list / Elenco parti
DESCRIZIONEDESCRIPTIONCODEQTYPOS.

POMELLO M8 F INOXM8 F STAINLESS STEEL KNOBSL.2876.001111
COPERCHIO TESTATA F.A. Ø280 MICROTECØ280 MICROTEC A.F. COVERCT.0336.701612
INSONORIZZ. SUPERIORE COPERCHIO MICROTECMICROTEC TOP NOISE BUFFERING MATERIALGI.0386.000013
INSONORIZZ. LATERALE COPERCHIO MICROTECMICROTEC HEAD SIDE NOISE BUFFERING MATERIALGI.0385.000014
FILTRO BICO M E10 D222 H92D222 H92 E10 M FILTERFI.0349.000015
DADO POLIAMMIDE PG 13,5 NEROPG 13,5 BLACK POLYAMIDE NUTEP.0166.000016
PRESSACAVO POLIAMMIDE SPIR.PG 13.5 NEROPG 13.5 POLYAMIDE BLACK CABLE FASTENEREP.0021.000017
CAVO ALIMENT.3X1,5 16A SCHUKO (10 Mt.)3X1,5 16A SCHUKO POWER SUPPLY CABLE (10 mt.)EP.0212.000018
CAPPUCCIO NERO COPRIFUSIBILE NTFUSE BLACK COATINGEP.0072.000029
FUSIBILE VETRO 10A 250V 6,3x3210A 250V  6.3x32 FUSEEP.0071.0000210
PORTAFUSIBILE 30A 250V30A 250V FUSE HOLDEREP.0213.0000211
DISCO FERMAMOTORE TF D215 MICROTECD215 MICROTEC TF MOTOR HOLDER FLANGESL.3219.7016112
GUARN.GOMMA SPUGNA GRIGIA ADES. 10x310x3 ADHESIVE MOUSSE GASKETGI.0139.00000,7m13
MOTORE THROUGH FLOW 1000W 230V 50/60 HZTHROUGH FLOW ENGINE 1000W 230V 50/60 HZGA.0357.0000114
GUARN. ADESIVA MOTORE TF Ø136/120 H12 BR800Ø136/120 H12 TF MOTOR ADHESIVE BR800 GASKETGI.0300.0000115
BASAMENTO Ø280 MICROTEC CPLØ280 CPL MICROTEC BASE PLATECT.0339.7016116
INSERTO FILETTATO M8 ACCIAIO 9202A/M6/8ZI9202A/M6/8ZI M8 THREADED INSERTMC.0404.0000117
GHIERA ESAGONALE 1/8"EXAGONAL NUT 1/8"MC.0469.0000118
INSERTO FILETTATO M5 ACCIAIOM5 THREADED INSERTMC.0798.0000419
RACCORDO RAPIDO A GOMITO GIREV. MINI G1/8 M - D4G1/8 M - D4 SWIVEL ELBOW MINI PUSH-IN FITTINGEP.0781.0000120
DISTANZIALE Ø10 CH8 M6 MF AISI303Ø10 CH8 M6 MF AISI303 SPACERSL.3220.0011321
GUARNIZIONE "L" D145X5 H15D. 145X5 H15 GASKETGI.0027.0000122
KIT FILI INTERR./MOTORE TF SEZ.1,5 L300 NEROL300 1,5 BLACK MOTOR SWITCH WIRING KITEP.0778.0000123
KIT FILI INTERR./MOTORE TF SEZ.1,5 L300 BLUL300 1,5 BLUE MOTOR SWITCH WIRING KITEP.0777.0000124
KIT FILI INTERR./MOTORE SEZ 1.5 L230 230VTHROWS KIT INTERR./ENGINE SECTTION 1.5 L230 230VEP.0422.0000225
TUBO RILSAN 4X2,5 NEUTRO4X2,5  RILSAN PIPEEP.0695.00000,4m26
RACCORDO RAPIDO A GOMITO GIREV. G1/8 F - D4G1/8 F - D4 SWIVEL ELBOW PUSH-IN FITTINGEP.0697.0000127
VUOTOMETRO D.40 CR (NEUTRI)D. 40 CR VACUUM GAUGEEP.0680.0000128
GHIERA CROMATA SPIE LUMINOSE TESTATACHROMED NUT FOR HEAD LIGHTEP.0304.0000129
SPIA LUMINOSA ROSSA 220V220 V. RED LIGHTEP.0019.0000130
CAPPUCCIO PER INTERRUTTORE MONOFASESINGLE-PHASE SWITCH COATINGEP.0018.0000131
INTERRUTTORE MONOFASE TESTATA MASTERSINGLE-PHASE SWITCH FOR HEAD MOD. MASTEREP.0017.0000132
CALOTTA MOTORE CPL MICROTECMICROTEC CPL TF MOTOR COVERCT.0338.7016133

KT.1264.7016


